Best model for HELP J142842.758+343825.161 at z = 2.986 x2=2.77
OPTx2=1.17 IRx?=16.75 threshold (OPT IR)=31.89 [um]

2 1 : Stellar attenuated
10 E o Stellar unattenuated
q : [I] —— Dust emission
1 1 —— AGN emission
10 E = Model spectrum
q ® Model fluxes
1 M oObserved fluxes
100 E
= 3
=
€ 1071 5
é -“rf‘.“"\-r\'\ .
i 1072 E | ’
1073 3
] dl m
1074 5
had E
S ]
Al |
© 1 == (Obs-Mod)/Obs
3 ]
S
n
] o e — e e e e  — — —————— ————————————————————
—_
(O] /
2 ] 1
5 ]
© -1 T CIGAL
()
[a'd

10° 10! 102 103 10% 10° A
Observed wavelength [um]



